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Acidity & Basicity

ACIDITY & BASICITY
1.  ?

 &

NO2

O

C C H

COO H
H

H O

a

b
c

d

(1)  b > c  > d > a (2)  c  > b > a  > d

(3)  b > a  > c  > d (4)  c  > b > d > a

2.  ; ; 

(1) 
N C C N

H H
(2)  H3C–C C–H

(3) 
CH3H C3

O
(4) OMeHMeO

O O

O OMe

3.  ;  - <+

 :

     

O O

Ph

O

Ph

O

OMe

O

NMe2

(A) (B) (C) (D)

(1) (C) < (A) < (B) < (D)

(2) (B) < (C) < (A) < (D)

(3) (A) < (C) < (D) < (B)

(4) (D) < (C) < (A) < (B)

4.  ;  { <+  %

N

(A)

N
H

(B)

N
H

(C)

N
H

(D)

N

(1) (A) < (B) < (C) < (D)

(2) (B) < (A) < (C) < (D)

(3) (D) < (A) < (B) < (C)

(4) (B) < (A) < (D) < (C)

5.  ;  pKb <+  :

N(CH3)2

OCH3

I

N(CH3)2

II

NHCH3

III

NHCH3

IV

CN OH

(1) I < II < IV < III (2) II < IV < III < I
(3) II < I < III < IV (4) I < II < III < IV
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Acidity & Basicity

SOLUTION

1. Official Ans. by NTA (1)

Sol. Acidic strength order :

OHR C
O

OHR CR CH> >

Reason :  OR C
O

 stable by equivalent resonance.

Stable :

 

NO2

O

C CH

COOHHO

–R NO2

OH

C CH

COOHO

–I

>

So  answer  is  b  >  c  >  d  >  a.

2. Official Ans. by NTA (4)

Sol.
CMeO

O

C

H

C

O

OMe

C OMe

O
Most acidic H

Due to presence of 3 (–R) groups

3. Official Ans. by NTA (4)

Sol. D C A B

 

O

N

More cross
conjugation

Me

Me
H C2

H

least
stable
anion
   

(Least Acidic)

O

CH2

H

O

O MeH C2

H

Cross conjugation

Ph–C–CH–C–Ph
O O

most stable Anion

(more Acidic)

4. Official Ans. by NTA (4)

Sol.     

N N
H

N
H

N
H

N

sp2

(Localised
Lonepair)

lone pair
involve in
aromaticity 

Weakest base
(least Basic)

most
basic

less Basic
than(c)
due to I
effect of II
Nitrogen

nd

(A) (B) (C) (D)

sp3

5. Official Ans. by NTA (1)


